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ABSTRACT 

In this brief but important paper, we provide the balanced chemical equations that lead to AD, Sz, and Cancer. From 

the Atomic Masses, we see that the mathematic that governs the universe viz Astrotheology, governs these diseases as 

well. And the Fine Structure constant (1/137) can be found in these chemical equations.  

 

From Acid-Base chemistry, we get the following equations: 

C6H8O7 + 3 NaOH = Na3C6H5O7 + 3 H2O 

 

Note: Zn II, Fe II, or Pb II can be substituted    Zinc leads to Alzheimer Disease; Iron leads to Schizophrenia, and Lead 

leads to Cancer, I think. 

 

3 Zn + 2 C6H8O7 = Zn3(C6H5O7)2 + 3 H2 

 

Zn3(C6H5O7)2 + 6 NaOH = 2 Na3C6H5O7 + 3 Zn (OH)2 

                          Acid buffer 
Zn (OH)2 + 2 HCl = ZnCl2 + 2 H2O 

 

Zn (OH)2 + 2 CH3COOH = Zn (CH3COO)2 + 2 H2O 

                      Acetic acid   Lead Sweet Acetate (Toxic) 

 

Fe + 2 HOH = Fe (OH)2 + H2 

 

4 C6H5O7 = 15 C + 9 CO2 + 10 H2O 

                                             Sugar (cancer) 

Pb (CH3COOH)3H2O + 7 OH = 3 CH3COO + 6 H2O + PbO2 

 

4 Zn + 7 OH {-} + 6 H2O + NO3{-} = 4 Zn (OH)4{2-} + NH3 
 

The formula that governs these diseases is the same formula for Gravity from AT Math. It comes from the  

Atomic masses in the above reactions. 

 

G·t = |M||s| cos 60° 

 

-6.66(-0.618) =M (1.333) (1/.2) 

 

M=0.618=√-1=t 

 

t²-t-1=E eigenfunction 
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E=0 

 

E=M=Ln t=Ln 0.618=1/0.549 

 

t= eM=e0.549=1.73=√3=eigen vector 

 

√3²-√3-1=2.67= Super force 

 

c = t =3    eigen value y-y’ 

 

 

CONCLUSION 

We’ve shown the chemical equations that lead to major diseases. We also have put medical research on a firm 

mathematical foundation. 

 

REFERENCES 

1. Mascetta, J A, M C Kernion. E-Z Chemistry. Barron’s. 2009. 

https://books.google.co.in/books/about/Barron_s_Science_360_A_Complete_Study_Gu.html?id=V8A8EAAAQBAJ&redir_esc=y

